Efficiency vs P,

~0.0%
o
£9.009
>
9.008
9]
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

Ratio

=0.02

Ratio

o F ? ? ?
§.018:_"""""""'E """" :'"""": """"""""
(8] C . . .
D.016f - wbereenedereens P S S
o r . . .
.014F oo cbeeeee e P S S
o F : : :
0.012F------5{-mmemiemenees P PR
0.0+ P STRE Breeeedene P
0.008F P TR SRR o B
0.006F- o R 1T B
0.004F e Beeeeee TR R
w11l
o L P v L S PR
L R 1 2 3

=

o
iN

=

10 . Gedf’

—=— DQM_MmKFIt_T1origmnal
—e— DQM_mkFit_TTNEWHS
—— DOQM_mkFit_TTNEWHS-dpdq
—— DOM_mkFit_ TTNEWHS-chi2

TP N

Efficiency vs ¢

s 0.0l
o F
20.009F
(8] .
$.008F
o .
.007F
o :
0.006;
0.005F
0.004F: -

................................................

TP @



	Contents
	Page 1


